Assignment 2 Math 181

1. Integrate the following:
a) .f (?ax3 —2x+ 7) e dx

b) [ (7% —5x" —4)sin(3x)dx

o [ (¥ -3x-2)m(4x)ar

Name:



d) j sin”' (4x) dx

e) I e cos(5x) dx

D [ In(4x-3)ax



g) I xtan™ (3x)dx

h) j eV dx

i) I sin (Inx)dx



2.

Prove the following reduction formulas:

n

1 . -1 _
a) I cos” xdx =—cos"" xsin x + j cos"* xdx
n

n

b) j (Inx)" dx=x(Inx)" —nj (lnx)'k1 dx

sec” % xtan x - 2

c) I sec” (x)dx = I sec” xdx

n—1 n—1



Use problem (2) to evaluate the following:

a) I cos’ (5x)dx

o [ [in(5x)] dx

d) [ sec (4x)dx



